1))
<
S
N
3
Q
8
S
<
<

ASSEMBLY INSTRUCTIONS

DETAIL A
BRACE FASTENTING

SEAT & TOP FASTENING DETAIL

MATERIAL SPECIFICATIONS:
TOPS & SEATS - 13 GA HR PLASTISOL COATED

000000000000
00000000000
o]

72.00

31.21

1890

DIA x.095" ILG TUBING
BRACKETS - 7 GA HR

2.3/8"

BRACE - 1.315" DIA x .O853" ILG TUBING

LEGS

m2722mmn€u
SEREISNNE
RS N RSN NS
SREREERE
SEREREER
0| Q|Qlw| | ]
3
S 8
S
N W
% ||| ]E
458 (g |2
NS RN
S|ol§ Q%
NRENEERR
SI8IE o 8|5
NF_./F_ED._ ]
SR IMRNNRE
_/An/__/_HX_/,S
Q| =~ Q|| § U.A
mmmmwwmm
o @[ % x
NEBEBERREE
W7234557
S

K

M

Q

~

u

~

0

&

W

N

W
23
N Q
£ 5
Q M
S
NN
I N—
u n
I Q
. ©
RS

~
Q ~
X 9
~
2 5
¢

Q

UNLESS OTHERWISE SPECIFIED, DIMENSIONS ARE IN INCHES

REV: C

SCALE: 1:24 ~ OBAPRO3 ~

~

SHEET 1 OF 1



ASSEMBLY INSTRUCTIONS
AND SPECIFICATIONS

DETAIL A
BRACE FASTENING

96.00

SEAT & TOP FASTENING DETAIL

MATERIAL SPECIFICATIONS:
TOPS & SEATS - 13 GA HR PLASTISOL COATED

5.28 |

—=

DIA x.095" ILG TUBING
BRACKETS - 7 GA HR

2.3/8"

BRACE - 1.315" DIA x .O853" ILG TUBING

LEGS

31.21

—

ﬁ

—

<

2
1
2
2

16

32

PART NO.|QTY.
51123800
01265700

01265500

51045600
104067

200009776| 16

117005

DESCRIPTION
PICNIC TABLE FRAME, HEAVY DUTY ILG
8 FT TABLE TOP, PERFORATED
8 FT SEAT, PERFORATED

TABLE BRACE

3/8-16 x 1.25 HHCS SS
HEX NUT, 3/8-16 SS

FLAT WASHER, 3/8 ANSI TYPE A SS
UNLESS OTHERWISE SPECIFIED, DIMENSIONS ARE IN INCHES

ITEM NO.

1
2

3
4
5
6

7

73.88 ¢

PAINTED

PICNIC TABLE, HEAVY DUTY, 8 FT PERF STEEL,

8PS (71132200)

PTH-

MODEL

27TAPRO3 ~ REV:C

~

24

7

SCALE:

~

SHEET 1 OF 7



SEAT & TOP FASTENING DETAIL

MATERIAL SPECIFICATIONS:
& SEATS - 13 GA HR PLASTISOL COATED

LEGS - 2-3/8" DIA x 095" ILG TUBING
BRACE - 1.315" DIA x_.083" ILG TUBING

BRACKETS - 7 GA HR

QTy.

2
1

2
16
16

32

PART NO.

01123800
01295000

01294700
51045600

104067
200009776

117005

DESCRIPTION

PICNIC TABLE FRAME, HEAVY DUTY ILG

6 FT TABLE TOP, DIAMOND PERFORATED

6 FT SEAT, DIAMOND PERFORATED

TABLE BRACE

3/8-16 x 1.25 HHCS S§
HEX NUT, 3/8-16 SS

FLAT WASHER, 3/8 ANST TYPE A SS

ITEM NO.

1

2
3
4
S
6

7
UNLESS OTHERWISE SPECIFIED, DIMENSIONS ARE IN INCHES

[S]
=z -
=
<= a
& o
gd o 'p}
== = >— =
< N ol =
3 =<t —
[
— X a
L
(3]
<T
x
M
O
QU]
~—
— -
— o
(o))
[oo]
~—
T A v _ Q - »
— %o <Zo 930 %0 oFo <%0 %o 9% <o
O e ERICNITNICNIONIONIOS Lo 0%
%0 o2 0Z0 030 030 oZ0 OJ0 90 oo g0 oZe
0 ENPENIONIENIONIONIES 2.
%o 930 0% 0% 0% 0Z0 %0 < 3
— h@n SooSe 2% 6% oS0 420 02 @M = 3
T T oo BRSNS ES oo [ 1 i
N h V e I e I
020 o Z0 <%0 030 W% %0 oZo S
%o 050 <%0 9o lPo %0 %o o0 %o
TS ENICNIONIC SOOI NS
— %o %o %0 9Z0 %0 of¥ 6Z0 %0 o0 S0 %o
%o oS0 530 <o bo %o <So <Se %
e o3 030 0Z0 030 o3 0% oZ0 oZ0 <%0 %
<3 <%0 oo OMOH o 030 930 oo RS
%0 0% Zo 930 ©Z0 903 020 %0 9o >
S N oS0 o3 sZelfbe <50 o5 o3 3o
3o 3o 50 030 0% og 020 30 oo %o o3
— B3 050 630 030 Yoo %0 %0 9% <%
20 % 020 0Z0 %0 of 0% oZo oo %o <0 o
SAQ SACSARS SRS A
%o 50 630 020 430 9% %0 oS0 3o 2
O o2 PICRITNICHICNIONION ENES od
%0 o2 OG0 030 930 o5k o%0 90 90 g0
N %o %0 050 930 8o o%0 o0 oo <% M~
020 o Zo <30 %0 oY o0 %0 <o o0 030
B3 030 030 %0 310 o%0 oZ0 30 <%
3o 3o Z0 <%0 030 oibioZ0 6Zo 0% %o 30
B3 S0 %0 %o rFo %o %o %o <%
%o 3o 020 9% 030 ofpioZ0 %0 9Zo <%0 <%
%o oS0 630 <30 fbo S0 <So <Se %
%o oo 950 930 050 odpioZe 630 9% <%0 <%
%o <%0 030 oo lgo 0% oZ0 oo <%
%0 0% Zo <30 0% ot %0 %0 o0 %0 30
B3 o <%0 <30 <30 <3
SER 2 e atleSe @t %) 3 30
- L - 243, oA Sieniay - - - o — —t
I 0.0, ROACAGASACACAG 0.2, I N J/
%0 o2 030 030 030 OZ0 OJ0 90 9Jo <Zo oF
0 ENPENICNICNIONIONI 2
Ro<d 020 020 020 020 020 o0 20 o< AH
oo PICNICNIONITNIONION e
” %o o0 50 6Z0 %0 %0 %0 %0 6% <%0 %

REV: -

~

)
2INov06

~

124

1

.00 CL

30

, HEAVY DUTY, 6 ft. Diamond Perforation Pattern, Painted Frame
SCALE

MODEL: PTH-6PE (71132400

PICNIC TABLE

SHEET 1 OF 1 ~



ASSEMEBLY INSTRUCTIONS

AND SPECIFICATIONS

0y 0 000 000 0,
%0 6 %0 0 %0 0 %0 o

90 6% o0 6% o0 o0 <
50 8o oGo ofe oSo G0 <Go
o oGo oG %0 oS0
%o 9% o o <Zo %o
3 3
NS
o o o <%0
3

°
RIS

060 o 60 4 o0 o o 0.0 o 0 o a0 o 60 o 0, B0 oo oo oy, o, o, b,
<><><> o, OOO o, OOO o, OOO o, OOO o 000 o, OOO o, 000 o, OOO o, 000 o OOO o, OOO o, 000 o, OOO o, 000 o, OOO o, 000 o OOO o, OOO Py OOO o,
000 000 000 000 00 000 000 000 000 000 000 000 000 000 OOQ 000 000 000 000 000 000
L ] o T o | A 1

—
'y

i
7

[
\
>

—C

18.02

PICNIC TABLE, Heavy Duty, 8 ft., Diamond Perf. Steel, Painted Frame

73.87

MODEL: 71132500 (PTH-8PE)

6.25
TYP

[ 1<

~_ | 6

DETAIL A
BRACE FASTENING

62.50

‘ 30.00 ‘

SEAT & TOP
FASTENING DETAIL

MATERIAL SPECIFICATIONS:
TOPS & SEATS (SURFACE)

- PLASTISOL COATED 13 GA. STEEL
LEGS - 2-3/8" DIA x .095" ILG TUBING
BRACE - 1.315" DIA x .083" ILG TUBING
BRACKETS - 7 GA HR

ITEM NO.

DESCRIPTION PART NO. aQry.

PICNIC TABLE FRAME, HD, ILG 51123800 2

DIAMOND PERF. TABLE TOP, 8 FT 51084000 1

DIAMOND PERF. SEAT, 8 FT 51084400 2

TABLE BRACE 51045600 2

3/8-16 x 1.25 HHCS SS 104067 16

HEX NUT, 3/8-16 S5 200009776 16

N| O 1] | W Y| =

FLAT WASHER, 3/8 ANSI TYPEA SS | 117005 32

SHEET 1 OF1

SCALE:1:30  29APR0OS

REV:C

UNLESS OTHERWISE SPECIFIED, DIMENSIONS ARE IN INCHES




	picnictables_specs.pdf
	picnic_tables_pg1.pdf
	picnic_tables_pg2
	71132100_PTH-6PS
	71132101_PTH-6GS
	71132200_PTH-8PS
	71132201_PTH-8GS
	71132300_PTH-APS
	71132301_PTH-AGS
	71132400_PTH-6PE
	71132401_PTH-6GE
	71132500_PTH-8PE
	71132600_PTH-APE
	71132601_PTH-AGE
	71132700_PTH-6PP
	71132701_PTH-6GP
	71132800_PTH-8PP
	71132801_PTH-8GP
	71132900_PTH-APP
	71132901_PTH-AGP
	71133000_PTH-6PA
	71133001_PTH-6GA
	71133100_PTH-8PA
	71133101_PTH-8GA
	71133200_PTH-APA
	71133201_PTH-AGA
	71133300_JPS-4PS
	71133400_JPR-4PS
	71133500_JPS-APS
	71133600_JPS-4PE
	71133700_JPS-APE
	71133900_JPR-4PC
	71134200_PPS-4PS
	71134300_PPC-4PS
	71134500_PPS-4PE
	71134600_PPR-APE
	71135100_PPR-6PS
	71135200_PPR-8PS
	71135300_PPR-APS
	71135400_PPR-6PE
	71135500_PPR-8PS
	71135600_PPR-APE
	71135700_PPR-6PA
	71135800_PPR-8PA
	71135900_PPR-APA
	71136000_PPR-6PP
	71136100_PPR-8PP
	71910600 PREMIER SERENITY PICNIC TABLE WITH SEATS PSSPT-6
	71916000 Premier ROUND SURFACE MTG PICNIC TABLE SPEC
	Premier Serenity Picnic Table Inground PSGPT-6
	PREMIER SERENITY PICNIC TABLE WITH SEATS PSSPT-8

	71910700 PREMIER SINGLE PEDESTAL SQUARE TABLE WITH CHECKER BOARD



